AL

=
1. 4 [E] T BT AAE 1B o LSS - R R s 1. T & i #% ¥33, 740, 000— (BithZ)
I ¥ 20, , — (B
1. };Q?'f{‘jjfft 4%%%%@%"] 1. uﬂﬁ%ﬁﬁﬂ% ¥ 244 000 (*Eyi%)
SHEE 29503 1IH
1. AFLHFF S 64 1H18H 9KE3 0%
(HAL 2 1)
‘ & il & il & il & #H
¥ K 4 % 1 ] % 2 ] % 3 5] i) B
MEASHR T L
#ENE S 2050001008944 28, 900, 000 AL
RS AEE iR T4
HEANFES 1010002002570 38, 340, 000
70Ty o RS N
= ANFE 2010001176803 1S
MASH avT v R
EAFES 7010101001773 1S
o MEFEAAEIC 1 0 043 1 OCHIYS 3 B REZ NG L (AfL&%H) (FH &)
T2 BN RFHE EORIARITR DI TH S, | 28,900,000 M X 1.1 = 31, 790, 000




